#F6 ImOFEE - FEEHEOWRE (ZEHEE) ofFEIZ X 5k (n=92)

A

ZENE 72 LEE (n=53)

ZEWYES B (n=39)

FEWTE (n = 46)

ATM2JE (n =7)

FEMRJE (n =31)

LJE - AT

n=38)
i (%) * 907t 31.8+3.3 31.4+44 29.5+4.0 283+33
BIE 3 57+ 28.1+22 27.2+1.8 271416 22.6 +10.0
o DRERES < D 15R 91% 143+3.4 12.7+4.7 12.7+3.3 12.6+4.6
WL R0 Bl JE s D A LT B 2 iR n 90 55420 50£1.8 57+2.1 69+1.5
MRS = a2 F ARTFE (KTSND) 15 ki 92 8.8+4.0 119435 9.0+4.6 145+5.5
2% OKTSND 877 38£3.6 6.3+2.7 48+43 6.9+7.1
SRR () 74% 39.0+1.3 40.0+1.3 38.8+1.4 38.9+1.0
FEROHEE (cm) 74+ 512421 514+1.9 514+1.6 52.6+2.9
FAEROKE (g) 74t 3,148.8+329.6 3,278.5+313.2 3,160.2 +£370.2 3,237.5+388.8
TIH—=AaT 74% 9.0+02 9.0+0.0 9.0+0.2 85+14
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